(USG/min)
100 200 300
1 | |
40
| | (ft)
A SEH-50JP (GP160) —{120
£ 30 /
o SEH-80JP (GP160) 90
T
20
2 N {60
5 N\
[t N\
10 \ \ —30
0 200 400 600 800 1000
Gaaill ana (L/min)
e Y ) a2l g (g gadaall A 0l o £IaY) Cilagll; Aaadle
Jaagall SEH-50JP SEH-80JP
Jeagill s 50 mm (2") 80 mm (3")
Joasill g 5 BSP Thread
3{ L 27 m (88 ft)
. . 640 L/min 1100 L/min
(169 USG/min) (290 USG/min)
Lodtl) ¢ s )l (il 8m (26ft)
oo sal HONDA GP160

0 & aa 520 4 o) el 38

pall 3 ) gula ana 163 cc
_ . Al Cagieas 2.9kW(3.9PS)/3600rpm
1] &7 [eww v 3.6kW/(4.9PS)/3600rpm
9 25850 Automotive Unleaded Gasoline
258l () A daa 3.1L (0.8 gal)
el )l i 320 Approx. 2.5hrs ‘ Approx. 2.2hrs
i) B3y 5ka e de
Calaalali* 313l Ao sane A jaall] casha i (583 cash A OMas? blias]
iball 5l 23.4 kg (51.5 Ib) 27.7 kg (61.0 Ib)
SIS 55 25.3 kg (55.7 Ib) 30.5 kg (67.2 Ib)

*edsad e 1alie) S Clis claal yd) |
el 050 il A je Cldal gall 5 (e (2 3,

SEH-50JP SEH-80JP

No.| akillag | iakill ol | QTY [No.| ddillag | kil s | QTY
1 | 0122452  |daad s 1 1 | 0122453 FERSUETIN 1
2 | 0112662 [ haal das 1 2 | 0112797 Laglaas 1
3 | 0112665 | oasil soa 1 3 | 0112799 il sln 1
4 | 0118078 | 20A o ie sana 1 4 | 0118078 20A S ie sana 1
5 | 0121226 |4l Js 1 5 | 011279 Gl Jds 1
6 | 0120933 | sk sl 1 6 | 0121047 o el 1
7 | 0121227 |iclad 1 7 | 0121046 FYSE] 1
8 | 0122221 | pmdidad 1 8 | 0122224 ad) das 1
9 | 0123234 |l aak 1 9 | 0110584 o) 2a 1
10 | 0127048 | /s ae sana 1 10 | 0117981 o1 e genn 1
11] 0110491  [&ils Jos 3 11| 0110491 Al Jpaws 3
12 — & jall 1 12 — & jall 1
13 | 0110664 < el wile 1 13 | 0110664 u_;).fﬁl@u 1
140127122 |k, ¥l ac sana 2 14| 0127125 FONgNF P >
15| 0122496 | 2 15 | 0122500 ] >
16 | 0122497 |aas 2 16 | 0122501 FIRN >
17 | 0113391 [awdl L, 2 17 | 0123216 Ll Iy >
18| 0127123 | lims 1 18 | 0127126 ETH 1
19| 0120086 | aska) 313(560) 3 19 | 0121066 ash Al 5Ri(390) 3
20 — FITIN] 1 20 — FITIN] 1
2110123213 [0-4l(1517-42.5) 1 21 0123214 O-4ls(1517-42.5) 1
22[ 0112792 | O-ls(P54) 1 22 | 0113989 O-il~(P54) 1
23 | 743119045 [.&_» (M8X20) 3 23| 743119061 | (M8X20) 3
24 | 743119047 [.¢» (MBX25) 4 24 | 743119063 | =» (M8X25) 4
25 | 743119051 | £ (M8X35) 4 25 | 743119053 | (M8X35) 4
26 | 743119046 |t » (MBX22) 4 26 | 743119061 |=» (M8X22) 4
27 | 827419008 |4sdla (M8) 4 27 | 827419008 |4sba (M8) 4
28 | 734532076 |uidl 2 » (M8X60) 4 28 | 734832076 | -adl £ 1 (MBX60) 4
29 | 854255008 | ai 5324(58) ) 29 | 854255008 | Juad 52w (38) 2
30 | 0122307 | aladl aa il aadhe 1 30 | 0122307 Talall 42,0 Al 1
31] 0118078  |20A <l 1 31 0118079 25A Sl 1

21-04 012256802



